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Date:
Unit 3: Solving Equations

WARM UP: Each bag contains the same number of %old coins, Determga_‘r_]ow many coins are in each bag.
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SOLVING THE UNKNOWN ALGEBRAICALLY

Determine how many coins are in the bag.

Let ‘x’ represent each bag and each coin will have a value of one. ALeFT Sing RienT Y T
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-"The solutlon +o +his ¢quation is 5.

GOLDEN RULE OF ALGEBRA
PERFOLM THE SAME OPERATIOMG) TO BOTH OSines

SOLVING ONE-STEP EQUATIONS

JUST perform the ;Qg rle
(9PP05 [+, ) operation.
Solve each of the following equations:

Addition Subtraction Multiplication Division Square
x+5=9 x—1=3 2x = 10 x_ NGEED
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SOLVING TWO-STEP EQUATIONS

Solve the following equations:

Use Reverse Order of Operatlons
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1) Teacher Your Turn
2x +8=20 7) Subtract § from |a) 3x—10=11 b) 25= 5+ 5x
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3) Teacher Your Turn
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PRACTICE

1. Mr. Forster solved the following equation. Explain, using full sentences, what he did to get each line of his solution.

Mr. Forster’s Work | What He Did

15—-5x =10 Original Question

—5x = =5 Subtracked 5 Froh bt Sk )

x=1 V\ioled _both Sldey 4y -5

2. Make up an equation with two operations that has a solution of x = 5.

Iy-3 = iufsj'f_{a(.'{' 3 From both Sk

2x = Jo dousl betn sz, YR X—5=20
j ! x* =25
X=156 Start Foom Fhe end =

3. Mike is currently 8 years older than Janet. Mike’s age can be calculated by using the equation below where m
represents Mike’s age. Calculate their ages.
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THINKING
4. A triangle has a perimeter of zéo cm. The three side lengths are x, 2x + 40 and x + 60. What are the side lengths of this

triangle?

Dum £ all sldo = Pesivetes 93t yo
X + 2x4yo 4xtbo =240 X
v+2x +X +4o0+0 =240
LUx +(00 =20 Xtes
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()& = S?Cw. z
S:oe (x+60) is 35460 = 95 om,

Complete: Textbook page 193# 3ad, 4cd, 5bc, 6bd, 8cde, 12ad, 13 3|Page



